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P1: lurin

P2: vsalvador
P3: pneg
P4:s jm

P5: chor

sig(X,Y):-der(X,Y).
sig(X,Y):-der(z,Y),sig(X,2).
izq(Y,X):-der(X,Y).
ant(Y,X):-izq(V,X).

ant(Y,X):-izq(Y,Z),ant(Z,X).

entre(Z,X,Y):-sig(X,Z),ant(Y,Z).

der(lurin,vsalvador).
der(vsalvador,pneg).
der(pneg,sjm).
der(sjm,chor).

der(chor,bar).

PARADEROS

P P P p
4 5 7 10
L 0 0 0 L ] 0 ®
P6: bar
P7: mir
P8: smig
P9:s bre

P10: unmsm



der(bar,mir).
der(mir,smig).
der(smig,bre).

der(bre,unmsm).

contador(T,X):-findall(X,sig(X,Y),R),length(R,V),T is V.



